4107279 HL PONTOON/TRITOON WOOD GUIDE ON COP

ITEM | PART NUMBER DESCRIPTION QTY | UM
1 4107623 HL P&T TOON GUIDE ON VERT ANG 4 EA
3603835 2-HOLE PLATE 2" 4 EA

3 5896257 HHCS 3/8-16 X 3-1/2 SS 8 EA
4 5896406 WASHER FLAT SAE 3/8" SS 16 EA

5 5806243 WASHER SPLIT LOCK 3/8 SS 16 EA

6 5840104 NUT HEX 3/8-16 ALUM 16 EA
7 3624515*  |WOOD CARPETED 2X6X16FT 2 EA
8 5896323 BOLT CARR 3/8-16 X 2-1/2 SS 8 EA

*CARPETED WOOD GUIDE ONS OPTIONAL

DETAIL

P/N 3624513 WOOD CARPETED BDL 2X6X16FT ° a a a

@/21 _
C%@a 9000
A

A AR




